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GENERAL AWARENESS COURSE

1411coM : BUSINESS STATISTICS AND BASIC NUMEBICAL SKILLS

SECTION - A

Answer any Six quesiions. Eaclr quesUon cairles 1 rnark 0x6=6)
1. Define quarllle devialion.

2. D" r1e rhlab"wrl are.anp"
3. What is mutua ly exclusive evenis? Write an examp e.

4. ll A={3,6,91, B={3,4,5,6,7,} and U= {1,2,3,4,s,6,7,8,9}, then what

5. Write any three lmilauons ot slatistcs.

2l I

6. Wrlte the iranspose ot the malrix , =4 3 3

t 75

7. Whal is the rank ol a malrix?

8. Det ne Ke y's meihod of ndex number and write ils equalion.

SECTION . B

Answer any Six quesuons. Each question carries 3 marks- (6x3=18)

ttl
9.. Find the inverse, if it exists, o{ the matrx.4=0 2 I

2I t) Pro
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10, llse matrx lnverse methods lo

(r) I I I fi ti

11. A clly has two daly newspapers, lhe Senlinel ancl the journal.Ihe
rollowing nformalion was oblained frorn a sutuey of 100 cily resldenls:
35 people subscribe io the Senrrel, 60 subscrbe io ihe Jaunal, and 2A
subscr be to both newspapers.

a) How many peope subsc be to the Serrrel bul rai lo lhe Jaunan

b) How manv subscribe lo lhe /blrral bul noi to lhe Seri/ret
c) How many do not subscribe lo e ther paper?

d) Organlze th s inlormaion in a table.

12. Calc! ate the mean and slandard deviaton for the folow ng labie g v ng
the age d slrlbuilon of 542 members.

Age in years: 20-30 30-40 40-50 50-60 60-70 70-80 80-90

No.ol members:3 61 132 153 140 51 2

13. Find lhe delerminanl of the given matrlx

1

3t

14. For a group ol 200
scores were found
d scovered lhal lhe
resPeclive y. Find
corresponding 1o the

15. Lel the universa set
to 100. Lei,4 be ihe
muluples oi 5 in U

candidates, ihe mean and slandard devialion of
10 be 40 and 15 respeciively. Laler on t was
scores 43 and 35 were m sread as 34 afd 53
lhe correcied mean and slandard deviaiion

U be the sel of posilive integers ess lhan or equa
sel of muiiples ol 3 in U, and lel B be the sel of



I M M flt
(3)

K19u 3293

a) Find ,(,4^B) n(a^B),rlB^aJ,and da^B)
b) Draw a Venn diagram wilh circles labelled A and B, indlcaling the

numberc of eemenis in lhe subsels ol pad(A).

16. From ihe folow ng iabe showing lhe wage dlsiribuiion in a certaln lactory,

a) The mean wage,

b) The median wage,

c) The mode waqe

Weekly wage No of employees

2A-4A 8

40 60 12

60-80 20

. 80,100 30

100 120 40

120 140 35

140-160 18

160-180 7

180,200 5

sEcTtoN " c
Answer any TWO quesllons. Each questlon carries 8 marks. (2x8:16)

17. An analys s ol monlhly wages paid to lhe wod{ers of lhe firms A and B
belonglng lo lhe same industry gives ihe lollowing resultsl

Flrm A Flrm B

No ol worke€ 500 600

Aveage monihly wage 186 175

Variance oi dislribution of wages 81 100
PT.O.
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Which firm. A or B. has the arcer wage bll ?

ln whlch firm. A or B, ls lhere grealer variabjllty ln individual wages?

CacLiale l1e average nolrt'lv wage ad va'arce o'dFrbulion of

w:.ps ot a,l workers rr oorl ' 11 wor<ed Logel5e

18. From the following ilnd out the paasches prlce lndex and check for time

reversal and iacior reversal t6sl.

a)

b)

c)

Comnrodily

B

C

D

19. Solve lhe fo Lowing syslem ol equailons using crameas rule

-4x+2y-92=2

3x+4y+z=5

x-3y+22-A

Base year Clrrenl Year Base l/ear
price Price quanuty

400 850 100

32O 690 20

72A 1600 10

720 2100 10

Currentyear
quantity

124

60

10

20


